[image: image1.png]GRADUS

















Safety & Protection Systems





Installation Guidelines





Data Sheet:   (sheet 1 of 2)   September 2015





760D / 1100D I Beam Posts (for double rail)








REQUIREMENTS





SETTING OUT�
Marker Pen


Tape Measure


Chalk Line / Laser Line�
�
POWER TOOLS�
SDS Drill 110V /4.5kg


Impact Wrench 110v 


9” Angle Grinder 110v


4.5” Angle Grinder 110v�
�
HAND TOOLS�
Spanner/Ring Spanner 17 and 24mm AF


Club Hammer


6/8mm Allen Key


Impact Driver�
�
DRILLS / BITS / ATTACHMENTS�
M10 Socket 17mm AF


M16 Socket 24mm AF


9” Angle Grinder Slitting Disc 1mm Thick for Cutting Steel


4.5” Angle Grinder Flapper Disc 80 Grit for De-Burring


12/19mm Hole Cutter


6/8mm Allen Key & or Impact Driver Bit�
�
FIXINGS�
Fixings must be ordered separately


FXG-BS16-35G - M16x35 Galvanised Nut, Washer (2) and Bolt Assembly


Rail Lap Joins 4 no.


Safety Ends (Fixings Included 1 no.)


Fishtail Safety Ends 4 no.


Pedestrian Safety Ends 2 no.


FXG-BS16-50G - M16x50 Galvanised Nut, Washer (2) and Bolt Assembly


Rail to Post connections 2 no.


FXG-TB16-150G - M16 x150 Galvanised Thubolt with Nut and Washer


Post to Floor Anchors 4 no.�
�



BARRIER COMPONENTS FOR 760 I BEAM POST (DOUBLE RAIL)





API-760D		I Beam Post Bolt Down for double rail (760mm high)


API-1100D	I Beam Post Bolt Down for double rail (1100mm high)





AR3-1750	Corrugated Rail (1750mm length)


AR3-3500	Corrugated Rail (3500mm length)


AR3-CC-SHORT	Corrugated Rail – Custom cut to length and holed (0-1749mm)


AR3-CC-LONG	Corrugated Rail – Custom cut to length and holed (1750-350mm)


AR3-3500-R*	Corrugated Rail – Custom curved from 6-50m radius (3500mm length)





Fixings must be ordered separately	





SUITABLE BARRIER RAIL SPECIFICATION





For use with Corrugated Rail – 310 x 85mm





Gradus Accessories, Park Green, Macclesfield, Cheshire SK11 7LZ England UK  Tel: 01625 428922  Fax: 01625 433949


www.gradusworld.com





Safety & Protection Systems





Installation Guidelines





Data Sheet:   (sheet 2 of 2)   September 2015





760D / 1100D I Beam Posts (for double rail)











PLACEMENT & SETTING OUT





Bolt-up 2 no. posts to rail using 2 no. M16 x 50 bolt sets and fully tighten


Stand bolted assembly in position check clearances on equipment, columns, walls being protected and agree formal setting-out dimension for all areas 


Slide-on and bolt-up end terminal to be used and align the end of the rail with fitted end to the required position


String line the front of baseplates for each run and then mark fixing holes





DRILLING & CUTTING PROCESS





Using SDS drill rig and 16mm bit – drill 175mm deep, clean out dust from holes 


Make cuts to rails with 9” Angle Grinder – a hot works permit will be required


Hole rails as required using 19mm hole saw


Deburr using 5.5” Angle Grinder with Flapper Disc





FIXING PROCESS





Place fixings through baseplates in drilled holes (ensure nuts are run up to the top of the threads) then knock-in with club hammer and tighten fully with impact wrench (24mm AF)





FINISHING





Ensure all bolted lap joins and end terminals are fitted correctly and fully tightened 


Clean-down areas and remove all debris and waste from installation areas





BEST PRACTICE TIP





Ensure all fixings are checked for correctness and fully tightened














Gradus Accessories, Park Green, Macclesfield, Cheshire SK11 7LZ England UK  Tel: 01625 428922  Fax: 01625 433949


www.gradusworld.com








